GCSE Geography

Unit 2 Revision Guide- Exam Tips and Techniques
TOP TIPS:

1. The exam is 1hr 15 mins

2. There are 3 sections each worth 20 marks but you only answer 3 they are LIVING THINGS, TOURISM and URBAN AND RETAIL CHANGE
3. Half the marks in each sections are skills based (graphs, maps, images etc)

4. Half the marks are for knowledge and communication (case study questions)

5. You should spend 22 minutes on each section, this will allow you enough time to check over your work at the end
6. Remember to use TRE to answer a graph question; Trend- increase, decrease or fluctuate, Rate- quickly, steadily or sporadically, Examples- include figures from the graph e.g. dates and amounts to show the pattern

7. Remember to use the PEE chain when answering 6 or 8 mark questions; Point- refer to what the question is asking, Example- case study facts and figures, Explanation- explain fully using words like ‘therefore’, ‘because’, ‘this leads to’ etc. 

8. Remember to decode the question- pick out the command word (describe, explain, outline etc), then any key words e.g. ecotourism. Make notes around the question of any key bits of information you remember. 
9. Use the continuation sheets at the back of the paper if you run out of room. If you do this, make sure you write the name of the section and the question number.
10. DO NOT leave anything on your chosen 3 sections blank. IF you are stuck on a question, go on to the next one but always go back. If you still don’t know… have an educated guess! 
THEME 10 – TOURISM

1.1 What are the factors both physical and human that affect the nature of tourism? 

	
	Case Study: Kenya
	Case Study: Wales

	Physical

Beaches

National Parks

Climate
	Mombasa

Massai Mara

High temperatures all year
	Barry, Porthcawl, Gower

Brecon Beacons, Snowdonia

Summer months= higher temperatures may see more tourists

	Human

Cultural

Accessibility

Activities (sports)
	Massai Mara

Nairobi airport

Water sports and scuba diving
	St Fagons, Cardiff Castle

Cardiff Airport

Millenium Stadium 


1.2 In what ways and why is tourism changing?
P-Staycation

E- UK, National Parks e.g. Lake District

E- more people choosing to stay in UK>>> cheaper>>> cultural>>>> offers/ advertisement>>> scared of flying (terrorism) >>>improved transport links (motorways)

P-Tourism Life Cycle Model
E- Benidorm

E- mass tourism destination>>> high rise hotels>>> very busy>>> lots of money>>> gone into decline over the last few years>>>> regeneration of area>>>> cheap flights to Spain>>> becoming more ‘British’ e.g. pubs, clubs, English food, language>>>competition from other cheap resort areas>>> competition from other new destinations e.g. Egypt

P-Long haul/ accessibility
E-USA, Kenya, Mexico, Australia

E- more frequent flights>>>> cheaper than they were>>>> advertisements>>>> globalization>>>> more connected>>> more places are easy to access>>> guaranteed nice weather
P-Cost/ technology
E- cheap airlines e.g. Ryanair and Easyjet

E- more people go abroad>>>> more frequent>>> last minute deals>>> book online>>> convenient>>> cheap or same price as staying in Britain in some places
What are the impacts of the development of tourism on an MEDC resort?
 
Case Study: Costa del Sol

P – positives and negatives


E – Costa del Sol


E- Infrastructure has improved N340 road has been built>>living standards improved>> 

70% of people work in tourism

P-Negative Impacts

E – jobs are low paid>>unemployment in region has recently risen to 30%>>local culture

      Have become merely shows>>increased crime +anti social behavior
Case Study: Ibiza, clubbing tourism
P- positive economic impacts

E- £50 entry into a nightclub
E- people spend money>>> businesses gain profits>>> positive multiplier effect
P- negative economic impacts

E- money is concentrated on clubbing
E- local businesses away from San Antonio struggle>>> have to close down their business e.g. restaurant>>> unemployed
P-negative social impacts

E- noise pollution, drugs and crime
E- reputation>>> nightclubs open until 6am>>>> noisy for locals>>>> litter> pollution>>> drugs and alcohol related crime>>>> pressure on police
Case Study: Iceland

P- positive economic impacts

E- 300,000 visitors
E- hotels, local businesses>>>> people buy goods>>> positive multiplier effect
P- negative economic impacts

E- Winter ghost towns
E- seasonal tourism>>> only gain profits in summer months>>> winter is quiet>>>> less money>>> have to adapt jobs/work
P-negative social impacts

E- 1500 holiday homes
E- social dynamics of villages change>>> locals become swamped with tourists>>> loss of community spirit>>> winter ghost towns. 
What are the impacts of the development of tourism on an LEDC resort?
Case Study: Kenya

Positives

P- economic growth

E- 15% of GDP is from tourism

E- tourist industry>>> hotels, trips, culture, activities, food/drink>>>> make money>>> positive multiplier effect


P- social impacts and better standard of living for locals
E- 2003 300,000 jobs in tourism industry

E- more people employed>>>> more money>>>> support family>>>> better food/ health/ education>>> send children to school>>>> better education>>> better future
Negatives

P- environmental impacts
E- Safaris
E- trucks erode soil>>>> soil degradation>>> soil doesn’t have nutrients>>> grass/ crops don’t grow>>> disturbs animals feeding grounds>>> tourists scare the animals>>> also may increase hunting
P-social impacts

E- tribes forced out of Serengeti National Park 
E- migrate to different areas>>> emotional distress>>> pressure on land>>> land degradation>>> hard to grow crops>>> loss of culture and heritage as places become more westernized.

3.1 How may tourism be developed in a sustainable way? 

Case Study: Kenya

P- ecotourism

E- Kigio Conservancy 
E- employs local people>>> all accommodation is environmentally friendly>>> natural wood/ fits in with landscape>>> educational trips>>> links with community mean that the project will be maintained in the future
P-national parks

E- Serengeti National Park
E- use locals as guides>>> money goes into local economy>> fair wages>>> wildlife protected>>> maintain for future generations.
Case Study: UK

P- regeneration

E- seaside resorts e.g Porthcawl, 

E- tourism life cycle>>> places go into decline>>> to stop this>>> regeneration slowly and gradually>>> invest money into the right areas>>> maintain the natural landscape etc.
P- national parks

E- Lake district
E- restrictions on boats on the lake>>> paths and walls built to stop footpath erosion>>> areas are protected from the public>>> maintain the natural landscape>>> future generations>>> small hotels and lodgings>>> don’t spoil views etc. 
